On May 1, Gambit Stores accepts from J. Nyznyk a $3,400, 3-month, 5% note in settlement of Nyznyk's overdue account. Interest is due at maturity. Gambit has a June 30 year end. (a) What are the entries made by Gambit on May 1, June 30, and on the maturity date August 1, assuming Nyznyk pays the note at that time? (b) What is the entry on August 1 if Nyznyk does not pay the note and collection is not expected in the future?

Action Plan
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Calculate the accrued interest. The formula is: Face value × annual interest rate × time in terms of one year.
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Record the interest accrued on June 30 to correctly apply the revenue recognition principle. Use Interest Receivable not Notes Receivable for accrued interest.
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If the note is honoured, calculate the interest accrued after June 30 and the total interest on the note. Record the interest accrued and the collection of the note and the total interest.
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If the note is dishonoured, record the transfer of the note and any interest earned to an accounts receivable account if eventual collection is expected or to an allowance account if collection is not expected.

[image: image9.png]





	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 

	 
	 
	 
	 


